Directions (1-5): feafaf@a serart #r %—111?":@75 e ifae 3R A e 313 weat

& 3w qfae-
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Q3. FUcheh oh Olh FUX hieT AT f3aT &7
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Directions (6-8):mﬁmmmmaﬁaﬁwﬂnmﬂmw%mmaﬁr@&
w&aT | 3 11 few e & 3R T 1T Fy=Y Ff TeF AT § 97 & 3 FIA aLA @
fﬂ:«rqaﬁamﬁlmﬁﬁwﬁﬁqﬁuﬁrmmﬁﬁwmgﬁm
o fF e v st F & Fla-a1 Ro v Foae & arfds 77 @ 377awor Far 1 39
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(a) TTe Sheel foTsent [ ITEROT YT B

(b) e et TAsehy 11 31TETOT LT B

(c) A T & forsehy [ A7 fseh 11 31eTa-0T &L B



(d) TfE & A faseny 1381 o1 &Y e 11 31eTeRoT X B
(e) I Torseh [ R fAseh 11 QAT 31eTaHTOT Lt &

Q6. YA : IS ATSeh AT et &1 Tl wAgeh {slleh &1 F& A3k e &
. | 5o g daE T B
I1. F& AT e gf T &
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Q7. FYT : F© Tolarsq o R =AEt g1 Tef off forarsd &1 el o v |t &
fosay . 1. %% o AT g1 Tehd ¢
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Directions (9-10): 1 T T YAF w2 H T Fy few arv § 39S a1 et Aswd 1, 11
3t 11 few arw §| 3T T T YT FY T AT & 7 & F FIAT a4t F AT
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Q9. FYF : T ULH o B
S ol A |
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forsy .



1.@»—;5@3%35%3?%

I1. SIS TLHAT HTIA G &

1. & oI A LT &

(a)3arer 1 3T 11 37801 X §
(b) Faref I 31X 111 31eTATOT X
(c) el 11 3 111 3eTEROT 3 8
(d) &Y 1, 11 34 111 317801 X &
(e) 378 A IS oTel

L1Difficulty 2
QTagsSyllogism
QCreator Harish Kumar

Q10. FUF : TS T TIHR §
S TIHR HAART 8

IS FHIANT T AL §

forsay

. $ TSHF T g Tl &

I1. {81 TR G 8T Fohdl &
111.3@@341?@%3@?%

(a) el 1 3R 11 3TER0T 3 §
(b) el 13 111 3TEROT & §
(c) aeT 11 3 111 3TEROT & §
(d) &Y 1, 11 3R 111 317807 e &
(e) 318 & g =AgT
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Directions (11-13): s fqw 17 o=t & & g4 & v WA IR suF AT T vy U §
vt FaT 1 311X 11 81 3Tah I8 AT w3 § 6 Faer & & 18 FTrrY 9 &7 3w
&t & fore vt § a7 1gT| Qe et o afw 3R 3w IR saw Ao

(a) T FUT 1 7 & IS FATTPRY 3Thot YA T 3T &1 & foIT g &, STafh et 1 H &
IS SATABRY 3Thel T T 3R ol o [olT TATCT Al ¢




(b) TFE FUT 11 7 &Y IS ATARRY 37ohel YT T 3T &l & [T GITC &, STfeh T [ H &
IS STThRT 37hel URaT &l 30X Gol o TolT JATCd gl gl

(c) T IAT A FUT | H & IS STTPRY 3ihel AT HAF [ 7 &7 IS STTRRT 37ehol T T
3R & & foIT aTeT g1

(d) Tfe U= 1 3R 11 ST 7 &) 318 ATARRT A 8 92T FT 3R ot & forw gaTeT gt
gl

(e) T FUT 1 3R FUT 11 ST F & IS FATARRY THATR T &7 30T 8ol & [T 39T+
gl

Qll.ﬁr.xmaﬂﬁmﬂmgvﬂqwdu de U Hodlg & [affeat it J afdea
@re yerd §e1d 8, dl 98 §eafdar & fee fe=tfalf@d & @ i a1 @reg qerd §=01d
g7

1. STET 3R 9IET & &1 shalol Teh WIeT—Yerd Felcll &, IRl il §UaR & & Si=Tram Sidr
g | R, I & ggor 91T STt B

I1. 31T, fSRArelr & arg el feeT aatrar Jrar g1 foars 3R e & i< ar @reg-uerd

FeITT ST &1 Slehell, TOATAT ¥ Ugel SoI1:T SITdT g
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Q12. STl o HogsT H ATHer hr [Fufer o=r 87

1. 40 TaeTfat &1 weh et &, AfFer HiT a1 q 2747 I & U1 Sfater T g1¢ § 214 ¥
gl

1. 45 Tt T v HaT 7 =1, AfAT & Sk IT 3R | [ r I a0 ©R & 2747
8| SfIrer hr ¥k gT¢ | 224t B
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Q13.G &T K & &7 G g7
LA KFTASE KAINTRaRag NSTHHRAATE HIAIM A RaRa gl M, G &r
Rar gl



ILG, RFTHAE &1 K, N Frag g1 A, K & faarfed &1 J, A Fr serallar a1 § 921 a8 G
o faared g1
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Directions (14-15): s1¥ f&T 1T A+ wesT & vah wea 31X fi wyer g=ar 1, 1 3k 11 e
7T &1 FURa AfST fF Faa F I 71747 3127 92t FT 3R A F forw yIieq § a1 A0
AT FYAT FT eI AT 3 37 QAo

(a) Tfe YU 1 3R 11 7 37ET YT &7 3 & & folv gATeT g

(b) T 2 11 3 11IF 31eT 99 FT 3R SoF & forw gaiea B

(c) TfE U 1 3R 1 3TeT T2+ FT 3R SF & forw gaed B

(d) Tfe el et 1, 11 3R 111 A 3TeT UReT & 33X ¢l o ToIT g3aTed =187 ¢

(e) TS YT 1, 11 3R 111 72T T 30X ool o folT 3MaTh ¢§ |

Q14.BE ST HATT U, V, W, X, Y 3R Z Wﬁm@ﬁg&rarﬁaﬂwﬁrm%
TAF fod H Teh SIed o 81317 A vl 3T & W 4 93 87

. X H FHH died g<al ¥ §3T g1 U FAIGR Pl oo d oIl ¢

LY3STA A RA T FHA TH AT gl W, X § Sieh d1¢, Sld oIl &

L&A ¥ T IR Ifad V & 9 ST o &
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Q15. Teh fTereT e ST # ‘fakalaju’ T 31 ‘will black high fly’ &1 @ ‘feed black’ &
fow &=m e 22 3fe,

I. ‘lu ja ka hu’ &T 372 ‘will crow feed us’ &, ¢

1. julunafu’ T 37 ‘fly of the us’ &,

I11. 1a fu ja ju’ T 31 ‘feed black the fly’ §,
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Solutions

Solutions (1-5):



Sol.

Boxes [tems

Ice-cream

Sweet

Toffee

Chocolate

Muffins

Cupcake

zcz|=m | o|o

Cake

N>0>R>P>M>L>Q

S1.Ans. (a)
S2.Ans. (a)
S3.Ans. (c)
S4.Ans. (c)
S5.Ans. (a)

Solutions (6-8):
S6. Ans.(b)

Sol.
S7. Ans.(a)

Sol.
S8. Ans.(e)

Y, 1%

Sol.

Solutions (9-10):
S9.Ans(c)
Sol.



S10.Ans(b)
Sol.

G Q=

Solutions (11-13):

S11.Ans.(e)
Sol.

Step 1 :- As per the given conditions in statement [ and I, by taken individually we cannot
find which food item is prepared on Thursday.

But After combining both the statements- Pasta is prepared on Wednesday and only one
food is prepared between Dhosa and Pasta. There will be two possible cases

Case-1 Case-2
Days Food Item Days Food Item
Monday Monday Dhosa
Tuesday Tuesday
Wednesday | Pasta Wednesday | Pasta
Thursday Thursday
Friday Dhosa Friday

Step 2:- Now as it is given that there are two food items prepared between Biryani and
Chicken and chicken prepared before biryani. Dhosa is prepared on the day after Biryani.
Dhokla is prepare before Biryani. From these conditions case 2 will be eliminated. Now In
case 1, Chicken is prepared on Monday and Biryani on Thursday and Dhokla on Tuesday.

Case 1:

Days Food Item
Monday Chicken
Tuesday Dhokla
Wednesday | Pasta
Thursday Biryani
Friday Dhosa

S12.Ans.(c)



Sol. From Statement I, Romil rank is 27th from the left and Jugail rank is (40-21+1)= 20th
from the left. Then Romil is seven ranks to the right of Jugail.

Now, From statement II, Jugail rank is (45-22+1) = 24th from the left. Romil rank is (27+1)
= 28th from the left, So Romil is four rank to the right of Jugail.

S13.Ans.(b)

Sol. From Statement [, it is given that A is the brother of K, who is married to N, who is
mother of H who is married to M. M is the father of G. So the gender of G is not defined so
we can’t find how G is related to K.

A K N
+ =] 6

(+)M==H(-)
1

G
From Statement I], it is given that G is the brother of R. K is the sister of N. A is married to K.
J is only child of A and is married to G. So, we can say that G is son-in-law of K.

A K N
) 106
J=G—R
() )

Directions (14-15):

S14. Ans.(a)

Sol.

Kids Day
Monday
U Tuesday
X | Wednesday
W Thursday
Friday
Saturday

S15. Ans.(b)

Sol. From statement Il and III we get our final answer.
Word Code
feed Ja
fly Ju
The Fu
black La
Of/us Lu/na

Fa/ka




| Will/high |




